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Cs-137 Cs&&
<54 <13
<15 <17
<6.6 <18
<5.3 <14
<16 <16
<18 <16
<6.1 <17
<6.1 <13
<6.0 <12
<17 <15
<7.6 <16
<10 <14
<94 <17
<9.0 <18
<58 <14
<48 <10
<40 <19
<55 <9.2
<40 <8.8
<42 <8.9
<58 <14
<43 <8.7
<6.9 <16
427 4.3
<46 <11
<6.0 <11
<5.3 <12
<49 <10
<47 <9.5
<40 <9.7
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#5232 (Ba/kg
Cs-137 Cs&&
<39 <8.6
<52 <12
<54 <12
<49 <9.6
<37 <16
<5.6 <13
<45 <9.6
7.67 7.7
20.4 20
<35 <71
<35 <13
4.49 45
<37 <8.4
<9.0 <18
<6.6 <15
<18 <16
<6.5 <14
<6.7 <15
<83 <16
<6.4 <16
<6.8 <15
<18 <18
<82 <18
<16 <16
<15 <16
<173 <13
<6.2 <13
<8.1 <17
<15 <17
<48 <12
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i = #8 (Ba/ke
NO | Stk | EERR . T L) T AR gk | ERa Cs-134 | Cs-137 | Cs&if
510 %f‘,ﬁ)y,j BER - - BERRRNEG V- Ge H28.12.9 <92 <84 <18
511 Eéf_é'“‘ﬁp,j BER - — BEREEREEVE— Ge H28.12.9 <75 <6.0 <14
512 f‘;'“g#,)yj\ BEER - - EEREXRBEEVF— Ge H28.12.9 <79 <6.5 <14
513 %f‘ff)),j\ EER - - BEREXRBEEVS Ge H28.12.9 <74 <5.9 <13
514 %fwﬁr/j‘ BER - - BERRXREEG LS Ge H28.12.9 <80 <6.7 <15
515 ?éfwﬁj‘/j‘ EER - - BEERERREG LS Ge H28.12.9 <80 <79 <16
516 iéf\’i‘/j‘ EER - - BEEREXREG VY Ge H28.12.9 <96 <17 <17
517 %fffp,j BER - — EERERREEVS Ge H28.12.9 <94 <79 <17
518 f%’l_%‘i/j BER - - EERERKREtEVS Ge H28.12.9 <82 <85 <17
519 %%5)/7‘ BEER - T8 — EERERBEEVF— Ge H28.12.9 <9.2 <80 17
50 |{EBE BEEE | SEENRH %aﬁ%@ﬁ%m — SRR e Ge H28.11.28 <10 <10 <14
521 |RER ‘/ER | fFERT %f%@ﬁzgm - BEREEMRRER Ge H28.11.28 <14 <6.9 <14
522 |fBBR R/ER | KFEWH %éjﬁ%ggig &) - RS REARER Ge H28.11.28 <6.4 <5.1 <12
523 |[fBER BER | fFEWNH %é%%’fﬁi ) — BEREEMRRR Ge H28.11.28 <8.3 <6.8 <15
524 |fBER BER %f%ﬂggiz ) - BEREERRER Ge H28.11.28 <1.8 <6.8 <15
525 |fBBR BER | SEXER %f%ggiZEm) VAR RIS BEREEMRER Ge H28.11.28 <43 <35 <1.8
526 |25 R BEER %:%m%i’fgm) - RERBEHEHR Ge H28.11.28 <48 <3.9 <8.7
527 |[fBER BER %:%{J?ff’fgﬁ) - BEREEMRRER Ge H28.11.29 <3.2 <3.0 <6.2
528 |fEBR =R %:%””Iiggﬁq) - EERGERER Ge H28.11.29 <30 <3.1 <6.1
529 (BB EER %:%””I;f";gﬁ) YIFLAR — EERGERER Ge H28.11.29 <3.3 <3.1 <6.4
530 |fBEE BER %:%ﬂﬂ I?gm) FAaVEIRE BERBERRN Ge H28.11.29 <6.7 <6.2 <13
531 |fRBE BER %:%ﬂﬂ Izgm) YIFLKIR — BEREEMRA Ge H28.11.29 <36 <3.6 <72
532 |@=EE =R %;%””Itggm) - EERGERER Ge H28.11.29 <25 <33 <5.8
533 |fBER BEER %:%m%izgm) - RS R AR Ge H28.11.28 <2.6 <3.6 <6.2
534 (fBER BEER %ﬁ%glzgm) — BEREHENRR Ge H28.11.28 <6.9 <3.3 <10
535 |EBER BEER %f%géﬁ;?) — EERHENER Ge H28.11.29 <15 <6.9 <14
53 |fBBE EER %gﬁ%g;ﬁ;?) - BB RAT LR Ge H28.11.29 <55 <35 <9.0
537 |fEBR RB/ER | SFEXEAT %}éﬂéﬁ;’; =) - RS R EAREA Ge H28.11.28 <6.0 <5.4 <11
538 [fRER BER | REXER %&%’fﬁg &) - BEREEMRRR Ge H28.11.29 <34 <29 <6.3
539 |fEBR BEER L& - M II5ERR — BEEREMRA Ge H28.11.28 <5.7 <59 <12

(FBER=ZEEWT)




i = #8 (Ba/ke
NO | EMEEH AT AT . =5 I?%%iﬁﬁﬁ%) ) T, BE& (g—éﬂig) Cs-134 | Cs-137 | Cs&E
540 |RRER EER | SIERTH %;f%ggizg?m) - BERBIEHRER Ge H28.11.29 <5.2 5.84 58
541 (fBER BER | 2FEWNH %éjﬁ%ggi;?) FREFE BEREHEMRRR Ge H28.11.30 <6.4 <13 <14
542 |fRER BER | fFEWNH %f%gégg) D2 N BEREERRR Ge H28.11.30 <6.7 <6.7 <13
543 |fBEBE BEER T 4BET %f%%ﬁﬁ;?) - Ge H28.11.28 <5.1 <3.2 <8.3
544 |BER EER =10 %f%@lﬁﬁgm ) fiE RS R AR Ge H28.11.29 <6.7 <6.9 <14
545 |(fBER BEER BRIk Ft %éjﬁ%gé;ﬁ;ﬁ) 10FTHEE BEREENRR Ge H28.11.29 <4.0 <38 <18
546 (fRER BEER Rk Ft %f%gé;ﬁ;m 17+ FY BEREEMRRER Ge H28.11.29 <3.3 <36 <6.9
547 |BBR ST N 155 Z 5} %f%@éﬁﬁgﬁ) A7F—®"FL |- BB RAI LR Ge H28.11.29 <34 <2.9 <6.3
548 |fBER B+ %:%””Iig;?) - BEREEHEHR Ge H28.11.29 <32 <33 <6.5
549 (fRER — %:%mlig;?) INTHAXLFE BEREEMRRR Ge H28.11.29 <6.9 <18 <15
550 [(fRER — %éf%@é%}%ﬁ) — Ge H28.11.29 <3.7 25 <6.2
551 |fBBR — %gﬁ%géﬁg) — EERHEMER Ge H28.11.29 <33 <36 <6.9
552 |fBER — %é%%@éﬁgﬁ) - BERBEHER Ge H28.11.29 <33 2.9 <6.2
553 |[fBER — %f%géﬁg) y—t— - BEREEMRRR Ge H28.11.29 <3.3 <2.8 <6.1
554 |EBR — %f%géﬁg) - Ge H28.11.29 <42 <28 <10
555 |fBBR — %é%@éﬁg) y—t— — BEREEMRER Ge H28.11.29 <5.0 <44 <9.4
556 [fRESR — %éjﬁ%@éﬁg) LAN—EH BEREAERRAR Ge H28.11.29 <2.3 <1.9 <42
557 |[fBER — %f%géﬁg) INVIER BEREEMRRER Ge H28.11.29 <4.6 <3.7 <8.3
558 |fBEER — %:%{J?ff\;f,;?) 2 5 B Ge H28.11.30 <29 <2.1 <5.0
559 |fBEBE AR %:%ﬂg[]/l;”"fﬁ ) Jod¥a—2R EERHENER Ge H28.11.30 2.6 <2.1 <47
560 |[fRER = ET %éf%g;z;?) - BEREHAEMRRR Ge H28.11.29 <3.7 <3.1 <6.8
561 [fRER — %f%gigg) =D % ) - BEREEMRER Ge H28.11.29 <4.6 <47 <9.3
562 |fBBR — %gﬁ%gilﬁ;??;ﬁ — EERHEMER Ge H28.11.29 <65 <6.7 <13
563 |fBER — %:%mi;?;ﬁ - BERBEHER Ge H28.11.29 <1.3 <6.3 <14
564 |[fRER — %:%mi;”;';ﬁ - BEREHENRR Ge H28.11.29 <6.9 <4.0 <11
565 |[fRER — %éf%@%?{;g) — Ge H28.11.29 <45 <3.9 <8.4
566 |fEEE — %gﬁ%g%ﬁﬁ) - EEREEWER Ge H28.11.29 <36 <33 <6.9
567 |fBER — %éjﬁ%@%;iﬂ) - BERBEHEHR Ge H28.11.29 <3.0 2.9 <5.9
568 [fRER — %f%g;ﬁﬁ) - BEREEMRRR Ge H28.11.30 <4.0 <42 <82
569 |fEEE — %f%géﬁﬂ) — EERHENER Ge H28.11.30 <31 <2.9 <6.0




i = #8 (Ba/ke
NO | RMEEH | MERR | WEH | e oG | RS | RE BE% . ) B pax | BEE | BB oeis | ce1w | ooad
570 |&=ER — — %ﬂ%@éﬁﬁ) PIRCLLT Z D1tk ¥4 — BERBIEHRER Ge H28.11.30 | H28.12.7 <3.7 <35 <12
5711 |fBBR BEER & BXHET %:%””Iﬁ;@) JETRIE Z Dt AN FIUNED v Ly BERBEHER Ge H28.11.30 | H28.12.7 <6.3 <5.2 <12
572 |fBER — — %:%mlf?;@) B Z D1tk av=xy - BEREERRR Ge H28.11.30 | H28.12.7 <34 <26 <6.0
573 [fBBR — — %:%MI?%J; B Z D1tk EFavz=vy — BEREERRER Ge H28.11.30 | H28.12.7 <2.9 <21 <5.0
574 |fBBR — — %;j%{]'fg’ﬁ;?) JETRE Z Dt av=xy - RS R AR Ge H28.11.30 | H28.12.7 <2.9 <22 <5.1
575 |[feER BEER REH %ﬁ%gi?ﬁ) JETRIE Z Dt ALy — BEREENRR Ge H28.11.29 | H28.12.7 <34 <36 <10
576 |[fRER BEER REH %f%gf%;@) FEFE Z D1tk IR & Y—aUERIE & BEREEMRRER Ge H28.11.29 | H28.12.7 <25 <32 <5.7
577 |RER BER REH %f%gfi;@) JEE Z D1tk ALy — BEREEMRRER Ge H28.11.29 | H28.12.7 <38 <29 <6.7
578 |fBBR EER RKEH %:%mjlci;;ﬁ” JETRIE Z Dt FFE HAAVEFE BEREEHEHR Ge H28.11.29 | H28.12.7 <6.2 <6.1 <12
579 |[fBER BEER REH %éj%gf;;ﬁ” FEFE fh Z Dtk BRI R 53l BEREEMRRR Ge H28.11.29 | H28.12.7 <6.4 <6.2 <13
580 |fBEE BER N /NG %:%nult;gm) JETE Z D1tk WEDS - BEREEMRER Ge H28.11.30 | H28.12.7 <4.9 <4.0 <8.9
581 |BER BER N /N ] %:%nult;?;gm) JETE Z D1tk PFLAKRIR — BERBIEHRER Ge H28.11.30 | H28.12.7 <3.7 <38 <15
582 |fBER 2R N /NG ] %éj%ﬂgiiigﬁ) JETRE Z Dt RIIRFEEF - BERBEHER Ge H28.11.30 | H28.12.7 <45 <5.0 <9.5
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